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UPCOMING ONLINE BATCHES
April 2022

06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

13 April 2022

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

11:30 AM to 01:30 PM

BANK ONLINE LIVE CLASS

(English & Bengali)

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

05:30 PM to 06:30 PM

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengali)
01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL
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Mohit.. 1 day ago (edited)

Thank-you madam for this Amazing Class Session of mday's..' 2 &
And

My answer for today's homework is like-

Total -14 person...

Read more

b &P  REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

debasish chakraborty 1 day ago

Homework : 14 Persons
GL--V-P-X--M--
THANK YOU MAM. AWESOME SESSION.

b 1 GR  REPLY

» View reply from Mahendras : Online Videos For Govt. Exams

Sudipta Bhowmick 10 hours ago

Thank you so much maam for the amazing season 22 Q .

@b GP  REPLY

M

o

™ at 11:30 AM

Aasu singh 1 day ago
Homework answer

Total 14 persons
GL__V_P_X__M__
Today nice session mam ..

Read more
gy oo REPLY

v View reply from Mahendras : Online Videos For Govt. Exams

Manan 1 day ago

Homework Answer-

Total 14 person are sitting around the circular table ma'am..
Thank-you ma'am.. 2= 2=

gy S8  REPLY

+ View reply from Mahendras : Online Videos For Govi. Exams

Bhavika Goyal 21 hours ago

Homework question :
X_P_V__LG__M__
Total number of persons - 14

oy &R REPLY

+ View reply from Mahendras : Online Videos For Govi. Exams
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™ at 11:30 AM

@ Aarohi Modi @ 9 hours ago Niteesh Kumar 1 day ago (edited)
Thankyou so much maim 14 total
X1TPMV2LG2M2...

oy GF REPLY

a &'a asa
b &GP  REPLY

Sonam Pundir 1 day ago

Hw. No of person 14 CLOCKWISE © Aarohi Modi @ 9 hours ago

GLL_V_PX__M__ GL__V_P_X__M s'a s'a s'a

THANK YOU MAAM = =
oy GF REPLY

5 & REPLY + View reply from Mahendras : Online Videos For Govt. Exams

+ View reply from Mahendras : Online Videos For Govt. Exams

Shalu Jaiswal 1 day ago
No. Of persons -14,
Starting from X in clockwise...

XM_GL_V_P
ay G REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
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Ueh A TRTd G&IT H Ifed gaTehR Al
X 37eX I 37X 3 Bl ST ATF
RT3 TIARE T 3T IFd S &1 P, X
e I TATT R ISTg | X AR M o
daare SS &1 P 3RV h a1 shaol
Uch hTad sorgl L, Vah el 8 dray
TATA R ISTE| G, LFh Sh g ST g | V
o AT ST TFdl Pl GEIT ST o | IR A
PIRMPSUIRITIATATRP, G
ﬁy%ﬁ%wﬁ—lﬁﬁ&@wﬁuqo
SHG|

A certain number of persons are sitting in
the circular table facing inside. There are
more than eleven persons sit around the
table. P sits second to the right of X. Two
persons are sitting between X and M. Only
one person sits between P and V. L sits
third to the right of V. G sits immediate
right of L. The number of persons sits
between V and P is one less than the
number of persons sits between G and M
when counted from the right and left of P
and M respectively.
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A certain number of persons are sitting in
the circular table facing inside. There are
more than eleven persons sit around the
table. P sits second to the right of X. Two
persons are sitting between X and M. Only
one person sits between P and V. L sits
third to the right of V. G sits immediate
right of L. The number of persons sits
between V and P is one less than the
number of persons sits between G and M
when counted from the right and left of P
and M respectively.
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How many persons are sitting in the table? A. 15 B. 12
C.13 D. 14 E. None

What is the position of G with respect to M? A. Third
to the right B. Fifth to the right C. Fourth to the left D.
Second to the right E. Third to the left

If G is related to M, V is related to L in certain way,
then who among the following person is related to X?
A. The person who sits second to the left of V B. The
person who sits immediate left of P C. M D. V E. None
of these

How many persons are sitting between L and X? A. 4 B.
3C.7D.6E.5
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s fAfRad FEa # afda s AT AR A
I Th Fd A 45 81 ¢ fFd v R W &or
g3Rc3iRBFdfaaAaT AT 6 F Rt
A AT ad GHFIAEIFBF IR T
Y T W §, S SAH A R vh iy
WA RIeg IFaF IAsRIATFaF
forelt v 3ifaer SR aT ST 1 F 9fFd & fonelt
i i e wWagidargl AiRDF 6w
qa AT 45§ 1 E, A3 D F s AT A do1
tiDIRGcFNTAFaTISEIFITCHF
g‘l;r%mé’raaﬁ?r%%ﬁaﬁmﬁtoﬂ;aﬁir
|

A certain number of people are sitting in a row
facing North. C sits at one of the ends and
there are two people between C and B.There
are as many people to the right of G as there
are to the left of G. F is third to the left of B
who sits fourth from one of the extreme ends
of the row. A sits at one of the extreme ends
of the row. F does not sit at any of the extreme
ends of the row. There are five persons sitting
between A and D. E sits exactly in the middle
of A and D. Two persons sit between D and G.
There are as many persons sitting between F
and C as many are sitting between F and D.
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A certain number of people are sitting in a row
facing North. C sits at one of the ends and
there are two people between C and B.There
are as many people to the right of G as there
are to the left of G. F is third to the left of B
who sits fourth from one of the extreme ends
of the row. A sits at one of the extreme ends
of the row. F does not sit at any of the extreme
ends of the row. There are five persons sitting
between A and D. E sits exactly in the middle
of A and D. Two persons sit between D and G.
There are as many persons sitting between F
and C as many are sitting between F and D.
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Who is sitting third to the right of F? (a) D (b) C
(c)A(d)B(e)E

Who sits between Fand D ? (a) G (b) E (c) B (d) F
(e) None of these

How many persons sitting in a row? (a) 20 (b) 19
(c) 23 (d) 14 (e) None of these

Who among the following person sits sixth to the
right of G? (a) F (b) B (c) D (d) C (e) None of these

How many persons are sitting between D and C?
(a) 9 (b) 13 (c) 10 (d) 12 (e) 11
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gfFad # ARaa T A aFads §
s gt FrAE AT A 3R Q, sF
SR A TS U WASTEI T, QF I
o181 Q3P & AT Faa g
BTIwiIkvFdasgaFassd
R,SH A N ISATRI U, SIHRTH
da doarg| v, U g & gEY T
WdaT g1 w frdl st e a e T2
W1 S ITFd & a0 S A ATSaT ¢

A certain number of persons are sitting in
the row. All of them are facing towards
south. Q sits sixth from the right of S. T
sits forth to left of Q. Only two persons sit
between Q and P. Six persons sit between
W and V. R sits forth to the left of S. U sits
between S and T. V sits second to the
right of U. W is third from any of the end.
S is eight from the left end of the row.
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A certain number of persons are sitting in the
row. All of them are facing towards south. Q sits
sixth from the right of S. T sits forth to left of Q.
Only two persons sit between Q and P. Six
persons sit between W and V. R sits forth to the
left of S. U sits between S and T. V sits second to
the right of U. W is third from any of the end. S is
eight from the left end of the row.
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How many persons sitting in a row? (a) 20 (b) 17
(c) 23 (d) 18 (e) None of these

Who is to the third to the right of Q ? (a) W (b) V
(c) P (d) S (e) None of these

Who is to the immediate left of P? (a) W (b) Q (c)
T (d) S (e) NONE

Who is third to the right of S? (a) T (b) W (c) V (d)
R (e) None of these
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This chapter is based on series of numbers, letters or
combination of letters, numbers and symbols.

(1) Letter series
(2) Number series
(3) Miscellaneous series
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We can solve the problems related to Series by learning the positional
value of Alphabets:

A BCDEFGHI J K L M

12 3456 7 8 9 10 11 12 13

N O P Q
-

R S T UVW X Y [Z
14 15 16 17 18

18 19 20 21 22 23 24 25 26
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E J O Y
5 10 15 20 25

CFI L O R U X
3 6 912 15 18 21 24
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Starting point of the
series Is the left end

A B C D E

F K LM
N OP Q RS

G H I J

T UV W X Y Z
Ending point of the

series Is the right end
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Example:-Position of 9th letter to the left of 12th letter from left side in
the below stated series.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

12th letter FROM left side — 9th letter to left = 3rd letter from left side
1S C.

12 g7 3787 918 3T W - 9 a7 3787 910 F = T 378 a1 A F C B
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Position of 5th letter to the right of 16th letter from right side.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

16th letter FROM right side — 5Sth letter to right = 11th letter from right side is P.
16 9T 378X FROM &I 3T & - 5th 78R ST & = 11 a7 &R 1S 3N T P B
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Example:- Position of 5th letter to the right of 17th letter from left
side.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

17th element FROM left + 5th element right = 22st element from left
IS V.
17 AT AT ICHA+ 5T AT GU=qUCH 22 AT Aca V ¢
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Example:- Position of 7th letter to the left of 16th letter from
right side.
ABCDEFGHIJKLMNOPQRSTUVWXYZ

16th element FROM right + 7th element left = 23st element from
right is D. ’ . : y :
16 AT dcd FROM G ¥ + 7 AT dcd S ¥ = 23 AT dcad g4 @ D
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Counting from ends of series: -

Right and Right = subtract from right end

Left and Left = subtract from left end

Right and Left = Add from left

eft and Right = Add from Right
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Counting from Particular element of series: -

Right and Right = Add from Right
Left and Left = Add from Left

Right and Left = Subtract| whose place value is

Left and Right = Subtract| greater.

J U

20 10
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How many such symbols are there in the above arrangement, each of which is
|mmed|ately preceded by a number and immediately followed by a vowel?

3RIFT IEIT H U fohelel Tcllh &, Tolodd & Tl Pl R T
TEIT ¥ Ygol IR R Th TR A Yrelel {HaAT ST §7?

(1) None

(2) One

(3) Two

(4) Three

(5) More than three/
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.Study the following arrangement carefully and answer the questions given below

9CN%D47#@JUG6IS5VPQW&20831ZXE*G

Which of the following element is the fifth to the right of the sixteenth from
the right end of the above arrangement?

3WIEd IIEAT & BR W Arfaf@d & & &l a1 deg drelga
g &rs 3R 9rgdl 87

(1) #

(2)X

(3) E

(4) &

(5) None of these
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.Study the following arrangement carefully and answer the questions given below
O9CN%D47#@JUGIS5VPQW&20831ZXE*G

If all the numbers in the above arrangement are dropped, which element will
be sixteenth from the right end?

I IWed Igeamr & gt &3t & PRy fear Srar g, ar e’ ®R
T i IT ded Giclgdl BIeMm?

(1) N

(2) E

(3) #

(4) 6

(5) None of these
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A[BP23C%DZ8E]JF65GQ#H@I1X7JaKLBMcN

How many such numbers are there in the above arrangement which is
immediately preceeded by a consonant and immediately followed by a

number?
3RIFT FIEAT H fhdl TH AR & S Teh ol gaRT R 3R Th

qX O Ugot 872

(1) One

(2)Two

(3) Three

(4) Four

(5) None of these
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How many pairs of letters are there Iin the
word “SEQUENTIAL” which have as many letters between them

(from both sides) as they have in the English alphabets?
"SEQUENTIAL" 2T H Tohdel SIS &R g Toladsh & H (Gl X%
) Tdel 3a] &, 3da & 33l guTATer | g2

(1) One

(2) Two

(3) Three

(4) Four

(5) More than four
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How many such pairs of letters are there in the word
PARSIMONIOUS each of which have as many letters between them
in the word, as they have in the English alphabet?

PARSIMONIOUS 2fee H UF fohdel 318X 5, aH & 9cdah o
a H TSdel 378 &, 3da s 3Isil JuTATeT H g2

(1) None

(2) One

(3) Two

(4) Three

(5) More than three
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